Developmental Errors – SOLUTIONS – SOLUTIONS - SOLUTIONS

Instructions: Identify the error(s) in each of the following examples. Do not just correct the sentence

so it conforms to adult syntax; state what structure the child has not used or has used incorrectly. Be

aware that in some sentences there may be more than one error, while in others there may not be any at

all. Then answer the SUMMARY question at the end.

1. Adult: What is mommy doing right now? Child: Mommy read book.

The child is not using the form of the “be” auxiliary , nor is he using the present participle 

inflection on the verb. Additionally, he’s not using a determiner before the noun “book” 

2. Adult: What did you do last night? Child: I play toy.

The past tense inflection is missing from the verb, as are the preposition and determiner that an 

adult would use (I played with my toys). It’s also reasonable to assume that he played with 

more than one toy, in which case he’s omitting the plural inflection on the noun “toy” 

3. Mommy buyed me new toy.

The child is using a regular pattern of past tense verb inflection with an irregular verb 

4. I know what he do.

The child is omitting an inflection on the verb – either the past tense inflection or the 3rd 

person singular inflection. 

5. Her have a new dress.

The child is having trouble with the inflection on the pronoun in the subject position. Also 

the child is missing the third person singular inflection on the verb. 

 6. Adult: What is the bear doing? Child: Bear sit down.

The child is missing a determiner before the noun “bear” and is also missing the “be” auxiliary 

and present participle inflection with the verb (The bear is sitting down) just like in #1 

7. He writed my name.

Here the child uses the determiners missing in other examples but uses a regular past tense 

inflection for an irregular verb 

8. Joey play with my toys.

Either the past tense inflection is missing or the same elements from #6 are missing. We can’t 

be sure because we don’t know what he intends to say. 

9. I eated an apple.

As in #7, we see the application of regular past tense inflection to an irregular verb. 

11. Adult: Did you go to the park last week? Child: We goed there.

As in #9, we see the application of regular past tense inflection to an irregular verb. 

12. Sally no give me book.

Negation is performed without the necessary auxiliary, and there’s no determiner before 

book. 

 13. Adult: What is the man doing? (pointing at a worker) Child: He fix clock.

As we’ve seen before, the “be” aux and the present participle morpheme are missing in the VP 

(he is fixing the clock) and the determiner is missing from the NP. 

14. Tomorrow I go play Joey house.

The auxiliary “will” is missing, as are a preposition (at) and the possessive case inflection 

15. Him not like school.

Again, we see trouble with pronoun case inflections (him vs. he) and negation without an 

auxiliary (did not) 

17. I eat ice cream right now.

As we’ve seen before, the “be” aux and the present participle morpheme are missing in the VP 

18. She say it Donny toy.

Morphologically, the verb is missing an inflection, either past tense or 3rd person singular, 

depending on the intended tense. We also see another missing possessive inflection. 

Finally, we see a missing “be” verb. 

20. Adult: Did you have a picnic yesterday? Child: I do.

The past tense inflection is missing from the verb again. 

 21. I want two book.

Here the plural inflection is missing from the noun “book” 

SUMMARY

Generalize – based on the data, what kinds of structures does the child have trouble with?

Auxiliaries

Prepositions FUNCTION WORDS (minor classes)

determiners

Inflectional morphemes (case, tense, person/number)

Irregular inflections

